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Ans

K131
V20,3
53.3,2
K454

Consider a closed-loop system with transfer function 26 -

Find the number of poles in right half of s plane and in left half of s plane.

Ans

X11.0Q
X2050Q

K350 &‘
v 10250 9

Q.2 The measured value of a resistance is 20.25 Q, whero'ue value is 20 Q. Determine the absolute error.

(’\

2 +2s+8

&

% +25% + 65 +10 \

0@
¢
oo
9

%O

R(s)

Question ID : 6395132779
Status : Answered
Chosen Option: 2

Question ID : 6395132787
Status : Answered
Chosen Option : 4

Ans

/X 1. Negative X - direction
< 2. Positive Y - direction
< 3. Positive Z - direction
« 4 Negative Z - direction

Q.3 Acharge Q is located at (0, 0, 3) and —Q is located at (0, 0, —3). The electric field intensity (E) at point (4, 0, 0) is:

Question ID : 6395132743
Status : Not Answered
Chosen Option : --

visit this website studytosuccess.in



Join Telegram More Update Note: All previous year Exam paper provides

Q.4 A l- @ transformer has total iron losses of 2500 W at 50 Hz and 400 V input supply voltage. When the applied voltage
is 200 V and supply frequency is 25 Hz, the total iron loss is found to be 850 W. Calculate the eddy current loss at 400 V
50 Hz.

(consider V/f ratio as constant)
Ans X1 2000 W
v 2 1600 W
X 3 1500 W
X 4 1000 W

Question ID : 6395132755

Status : Marked For Review

Chosen Option : 2

Q.5  The per unit impedance of a synchronous machine is 0.242. If the base voltage is increased by 1.1 times, then the per

unit impedance will be:

Ans x1_ 1.0
X 2 0.6
<308
v 0.2

o)
o

Qétion ID : 6395132768

Status : Not Answered

o:hosen Option : --

Q6  For the two-port network shown here, find the vahiesél and Z5,.
30Q

1 ¢ M =2 &oe
- 10Q 600 _ bﬁ
O

Ans X1 10 © and 60 Q
X2 150Qand200Q
X3 30QandloQ, G ¢
v 4 9 Qand 24

Question ID : 6395132739

Status : Answered

Chosen Option : 4

Q.7 Three identical resistors connected in star consume 4000 W when connected across balanced 3- @ supply. What is the

power consumed, if the three resistors are connected in delta across the same supply?

Ans X1 20000 W
& 2. 16000 W
X 34000 W
v 4 12000 W

Question ID : 6395132740

Status : Answered

Chosen Option : 4
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Q.8 Figure shows 1-@ full converter feeding RLE load with X; = 30, R =4, and E = 10 V. Determine the average value of

load voltage for the average load current of I ; = 50 A.

5
L
+
V, R
ol :E
Ans X1~ 150

X 2190
X 3110
v 4 260

Question ID : 6395132806
Status : Not Answered
Chosen Option : --

5 mV. What is the value of n? (where n denotes resolution of ADC)

Ans x1' ] L 4
v 2 10 ee
X312 0
X409 0

Question ID : 6395132799
Status : Answered
Chosen Option: 2

Q.9  An-bit Analog to Digital Converter (ADC) is required to convert an analog input in the range 0-5 V dc to an accuracy of '&

Q10 The fractional slip of 3- @ induction mo he ratio of:
Ans 3 1. rotor copper loss / rotor outp

/< 2. stator copper loss / stat r@

/< 3. rotor copper loss / st pper loss

« 4 rotor copper loss¢ retOr input

Question ID : 6395132761
Status : Answered
Chosen Option : 3

Q.11 A3-®, 5 kW induction motor has a p.f. of 0.75 lagging. A bank of capacitors is connected in delta across the supply
terminals, then p.f. is raised to 0.9 lagging. Determine the kVAr rating of the capacitors connected in each phase.

Ans X1 0.313 kVAr
X 2.0.256 kVATr
v 3 0.663 KVAr
X 4.0.113 kKVAr

Question ID : 6395132771
Status : Not Answered
Chosen Option : --
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Q12 Forward path transfer function of a unity feedback system is

Note: All previous year Exam paper provides

G(s) = £
(s+5)(s+ 10)s + 15}
Select appropriate value of K for the system to be oscillatory.
Ans X 1. 4000
X 25250
& 32400
v 4 7500
Question ID : 6395132780
Status : Answered
Chosen Option : 4
Q.13 If f{t) is the step-response of a linear time invariant system. then its impulse response h(t) is given by: PN o
(where *t” indicates continuous time domain) \

Ans

X 1 h(D) = J f(t) e‘
0"9

d
v 2 h(p) = =f® o
X 3 h(v) = [f(D]? oo
X 4 h(t) = (1)

9

&o Question ID : 6395132746
* Status : Answered

Chosen Option : 2
Q.14 Ap alternator has 18 slots per pole and the first coil lies i nd 16. Calculate the pitch factor of the coil for 3rd
harmonic. *

Ans x1. 1.5
X225 9
Vv 3 0.707 &
X4 3.0 &

& Question ID : 6395132764
Status : Not Answered

Chosen Option : --

Q.15 Two wattmeters are connected to measure the total power consumed by a 3- @ load at 0.5 power factor lagging. The
total power consumed by the load as indicated by the two wattmeters is 30 kW. Find the individual wattmeter readings.

Ans %1 Wy= 10 kW & W, =20 kW
X2 Wy=15kW & Wy =15 kW
X 3 W;=5kW&W,=25kW
Vi W =30kW&W,=0

Question ID : 6395132788
Status : Answered
Chosen Option : 4
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(where R =10, L= 10 mH, C = 100 uF)
Ans 1. Zero

' 2. Unity
/< 3. 0.6 lagging
/< 4 0.6 leading

Q.16 A series R-L-C circuit is supplied by 100 V, 50 Hz AC. What is the power factor of the circuit at resonance?

Question ID : 6395132736
Status : Answered
Chosen Option: 2

Q.17 Determine average power of the signal

x(t) = cos(2nfgt)

Ans X1 LOW
X220W
X3 10w
Vi 05W

(where fj; is the fundamental frequency and ‘t’ indicates continuous time domain)

o>
0‘?
e

¢

Question ID : 6395132748
Status : Answered
Chosen Option : 1

Ans x1.3a—x
v2-2a,
X3 12a,
X 7T

-

Xy

Q.18 Given s the magnetic field intensity H = 3@, + 7ya,+ 2xa, Afm&l e current density | (A/m?).

A
?\

Question ID : 6395132741
Status : Answered
Chosen Option : 2
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Q.19 The difference equation of the system is 2y(n - 2) - 3y(n- 1) + y(n) = 4x(n- 1) + x(n). Determine
Y(zyX(z).

(all initial conditions are zero; *n’ represents discrete time signal, Y(z) is output signal and X(z) is input signal)

A
ns 72

r A . N
2% =3z +.2

: 4z

Koo
-l

v 2 24+ 4z
z? — 3z + 2

x4 L 24+ 4z
3z + 2

Question ID : 6395132751
Status : Answered
Chosen Optios
Q.20 A 3- @ full-wave converter as shown in the figure is operated from a 3- @ Y-connected 208-V(line —line rms). 50-Hz ‘

supply and the load resistance is R = 10 Q. If the delay angle « is 60°, find the average output voltage?

7. 48,2 5.4 10 e
y=Sij <
: ¢

Ans X 116032V o

v 2 14045V 0
X 3.200.56V e

X4 100V &o
Question ID : 6395132807
Status : Answered

Chosen Option : 2

0

Q.21 For the common emitter conﬁgu@ own in the figure, find the value of R¢.

(Vec=15V, V=5V, &ﬁs., current gain(B) = 100)

v

Ans  of 1. 1.98 kQ
X 2 2.54kQ
X 3 356kQ
X 4 420kQ

Question ID : 6395132791
Status : Answered
Chosen Option : 1
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Q.22 _. . i - ” - 5
Find the divergence of a vector A = x*@, + 6y*a, +zd, at point P (2. 4, 1).
Ans x 1. 10
X2 24
X316

v 4 55

Question ID : 6395132742
Status : Answered
Chosen Option : 4

Q.23 The single-phase half-bridge inverter as shown in the figure here has a resistive load with output power of 240 W and
the DC input voltage of Vs =48 V. Determine the value of load resistance (R) connected?

o o
Ans ‘
o Question ID : 6395132805
Status : Not Answered

Chosen Option : --

Q.24

A unity feedback system is given by ' | o
_10(s +2) %
GE)= 52 (s +5) b

Forinput, r (t)=1+2t,t =0 dy state error e(t) is:
Ans 3 1. infinity

v 2 zero &0
X 3 six &
X 4 five g
Question ID : 6395132778

Status : Answered
Chosen Option : 1

Q.25 A 4-pole, 50 Hz, 3- @ induction motor has a slip of 6%. Calculate the speed of the motor.
Ans 1. 1250 rpm

/< 2. 1350 rpm
75 3. 1500 rpm
« 4 1410 rpm

Question ID : 6395132763
Status : Answered
Chosen Option : 4
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Q26 Find the range of K for the system shown in the figure to be stable.

where G(s) = m— and H(s)= ﬁ
Ans X1 5<K<-=2

V2 <K<l

X 3 2 <K<0

/< 4 Unstable

Question ID : 6395132783
Status : No
Chosen Optiov

nswered

2400V as input. Find the kVA rating of auto transformer.

Q.27 The rating of 1- @, 2400/240 V two winding transformer is 50 kVA. It is reconnected as step up auto transformer with

,:)

Ans

X 2 86.6%
2 3.00.19%
X 4 90.8%

&
&

o

Ans X 1. 250 kVA 0

v 2 550 kVA o

& 3. 1000 kVA o

X 4 750 kVA

Question ID : 6395132756
o Status : Answered
& Chosen Option : 2

Q.28 A40kVA, 100400V, L- &, 50 Hz transformer has iron loss of 4 per loss of 1600 W at full load. What is

the efficiency of the transformer at half load with 0.8 power
v 952%

d
g?

Question ID : 6395132754
Status : Answered
Chosen Option: 1

Q.29

Ans X 1. transformer

/< 2. generator

W 3 transmission line
/< 4. motor

Distance protection relay is used in:

Question ID : 6395132767
Status : Answered
Chosen Option: 3
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Q.30 A 500M VA, 18 kV alternator has reactance of 0.25 p.u. Find the per unit reactance of the alternator for the base value
of 100 MVA, 20 kV.

Ans 1. 0.2103 p.u.
/< 2. 0.1243 p.u.
/< 3. 0.4301 p.u.
W 4. 0.0405 p.u.

Question ID : 6395132770
Status : Answered
Chosen Option : 4

Q31 gelect the correct relation [D = Duty cycle].

Ans Boost converter:
v
v, 1
Ve i '\o
Buck converter: e‘
x: 2

| Yout _ 1_p 0
¢
Boost converter: o

X3 >

Your _ 1y e

Vin

Buck-boost converter: &o
X 4 6*

Vﬂ ut it D
Vin

Question ID : 6395132800
‘ Status : Answered
Chosen Option : 1

K
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Q32 Calculate the transfer function of the following system.
Ans
i 1 GaGb
T Gl G, E TR,
. GG
X 2 ah
T, — G, T R,
s o )
T E G, LT
s BB,
1+ G,G,H, + G,H, '<>
Questi |D‘§95132782
: Answered
tion: 1

Q.33 If a voltage-controlled bus is treated as a load bus, then which of the following limits would

Ans 1. Active power o
« 2. Reactive power 0
/< 3. Phase angle 9

Question ID : 6395132769
Status : Answered

- O
X 4 Energy &
Ry

0 Chosen Option : 2
Q.34 €(s)

Transfer function ot ) ﬂ@stem shown in the figure here is:
5

Ans

" H,(1+G,G,Hy)
) GGy
T+ GG, Hall,
GG,
H,(1+G,G,H))
4. Gal
H,(1+G,G,H)

Question ID : 6395132781
Status : Answered
Chosen Option : 4
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Q35 A potential field is given by V = 3x%*y — yz. Find the electric field at (L, 0, —1)
Ans x 1. 4 ﬁz
X2 —-3a,—3a
Wi —4id,
Xa3a,+4a,

¥y

Note: All previous year Exam paper provides

Question ID : 6395132744
Status : Answered
Chosen Option : 3

Q.36 The armature resistance of an 18.65 kW 250 V de series motor is 0.1 €2, the brush voltage drop is 3 V and series field
resistance is 0.05 Q. When the motor takes 80 A, its speed is 600 rpm. Calculate the speed when the motor takes a
current of 100 A.

Ans 1. 556 rpm

< 2 315 rpm 0‘0

3. 474 rpm
v P 00
75 4. 653 rpm
estion ID : 6395132759
o Status : Not Answered
Chosen Option : --
Q37 The plot of armature torque(T,) Vs armature current(I,) of ies motor is:

(T, on Y-axis and I, on X-axis) o
Ans o 1. parabola up to saturation and strﬁ&ne afterwards
/< 2. straight line throughout b
/< 3. constant (parallel to X
< 4. parabola through@ue

*

Question ID : 6395132760
Status : Answered
Chosen Option: 1

Q.38 Asimple slide wir
resistor of 0.1 Q is

eter is used for measurement of current in a circuit. The voltage drop across a standard
ed at 75 cm. Find the magnitude of current if the standard cell emf of 1.45 volt is balanced at

50 cm.

Ans X1 40A
X235A
X3 155A
v 2175A

Question ID : 6395132785
Status : Not Answered
Chosen Option : --
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Q39 Consider a signal x(t) as shown in the figure here.

'“x{l}

L

-3 0 2 4

Plot the graph of x(—2t+3).

(where ‘t’ indicates continuous time domain)

Ans A X 1)

X1 | 3 '\0
- 0]

/

:\
X

Question ID : 6395132747
Status : Answered
Chosen Option : 3

Q.40 Abuck converter has an input current of 2.4 A while required output current is 6 A. What will be the duty cycle of the

converter? [Assume lossless system]

Ans «1_ 0.4
X2 1.0
<308
X420

Question ID : 6395132801
Status : Answered
Chosen Option : 3
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Q.41 Determine the Nyquist rate of signal x(t) = cos(200mt) *sin (3001t) according to the sampling theorem.

(where *t’ indicates continuous time domain)

Ans X1, 150
< 2100
v 3 500
X 4 250

Question ID : 6395132750
Status : Answered
Chosen Option : 2

Q,42 The starting current of an induction motor is five times the full load current while the full load slip is 8%. Find the ratio
of starting torque to full load torque.

Ans x 1. 8.0
X2 40
X3 06 o o
v 20 >
: 6395132762
tatus : Answered
&n Option: 4
Q43 What is the value of (64)1¢ + (80)p ? o

Ans o1 (180);0 0
X 2 (76)10 e

X 2 (164); §&°

< 4 (100),, 6
&0 Question ID : 6395132795

Status : Answered

e Chosen Option : 1
Q44 Consider the system g

G(s)H(s) =

s(
Select the appropriate phase crossover frequency from the following options.
Ans 1. 6 rad/sec

#< 2. 2,46 rad/sec

X 3. 3.23 rad/sec

W 4 0.2582 rad/sec

Question ID : 6395132776
Status : Answered
Chosen Option: 3

visit this website studytosuccess.in



Join Telegram More Update Note: All previous year Exam paper provides

Q45 Which circuit parameter is predominant in the overhead lines?
Ans  of 1. Inductance
/< 2. Capacitance

/< 3. Resistance
/< 4 Luminescence

Question ID : 6395132774
Status : Answered
Chosen Option : 2

Q.46 The amount of negative feedback applied to an amplifier reduces its gain by a factor of 10. Then the bandwidth:

Ans o 1 increases by a factor of 10

/< 2. decreases by a factor of 20

/< 3. decreases by a factor of 10 o
_ L/

< 4 remains the same \

Qé@ : 6395132792
0

atus : Answered
ption: 3

Q.47 Identify the number of prime implicants and essential prime implicants f{b ction

f(A, B, C,D)=Ym(0, L, 4. 6, 7. 8, 10, 14, 15) 0

(where “m’ represents minterms) e
Ans 1. 7,2 &o

X 2 6.2 %

r SR | b

K461 &0

Question ID : 6395132798
X 3 Status : Answered
Chosen Option : 3

Q.48 A string insulator has 4 uni tage across the bottom most unit is 33.33% of the total voltage. Find the string
efficiency.

Ans X 1. 25
< 2 66.67%
X 3.33.33%
v 75%

Question ID : 6395132757
Status : Answered
Chosen Option : 4
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Q.49 Assume that the source in the circuit shown here is delivering maximum power to the load resistor. What is the total
power loss?

100

1
10V 2R

Ans x1, SW
v225W
X3 20W
X4 l0w

Question ID : 6395132738
Status : Answered
Chosen Option : 2

Q.50 The figure shown here is a branch of an electric circuit where current is flowing from A to B. Find the value of voltage
(Va—Vg)-

2A 0V _ .30 'o

A 50 "_llsv B \
Ans x-]‘ 5V e‘

X230V e

X3 20V
v i1V 00

Question ID : 6395132733
Status : Answered
Chosen Option : 4

.51 The currents in a 3- @ unbalanced systemare: Ig = (12 +j 6) A: Iy = (1 :Igp=(—15 +j 10) A. Calculate
R Y B

positive sequence component of the R-phase current by consideri

Ans X 1. (-1.85-j5.4T) A

v 2 (10.85+j10.13)A &0

X3 (3+j5.47)A

X4 3 +j1.33)A&0

s phase sequence.

Question ID : 6395132772
Status : Not Answered
& Chosen Option : --

Q.52 —j50 j10  i5
The bus admittance matrix of a power system is given by l jl10  —j30 j10 I

j5 j10 —j25
The impedance of line between bus 2 and 3 will be equal to:

Ans a1 0.5
W2 jo1
X 3 jo.2
< 4 0.2

Question ID : 6395132766
Status : Answered
Chosen Option : 2
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Q.53 Find the value of Norton resistance at the terminals a-b for the circuit shown here.

(where V=10V.I=5A,R; =9 Q. R,=18Q,R;=4 Q)

(OR

Ans x 1500

X2250Q

V3100

X420

Question ID : 6395132737
Statusf: ed
Chosen Optio s

Q54 Calculate the time constant for the RC circuit shown here. 26‘

1200 120 0
00

Ans x1 95 ms eo

O
v 3 12 ms &
& 4 50 ms *
&

Question ID : 6395132735
Status : Answered
Chosen Option : 3

Q.55 What is the magnetic field pr d due to an infinite linear current carrying conductor?

Ans o g H=pﬂ2$’ﬂ
v 2 H=1/2 m
K3 H rA/m
X4 H=IrA/m

Question ID : 6395132745
Status : Answered
Chosen Option : 3
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Q56 Find the value of the current flowing in 2 Q resistor?

Ans X1 6A

V2 4A

X3 10A

X4 15A

Question ID : 6395132734
Status : Answered
Chosen Option : 2
Q.57 Adc shunt generator is delivering 20 kKW at a terminal voltage of 200 V to a resistive load. The armature and shunt L/ o
resistances are 0.5 € and 100 €, respectively. Calculate the induced emf in the armature. \

(neglect brush voltage drop) "
Ans  of 1251V e
X220V 0

X3 202V o
(Y

X4 351V
Question ID : 6395132765
Status : Not Answered
o Chosen Option : --

Q.58 In a negative feedback RC coupled amplifier. when the bypasa removed it acts as topology.

Ans X 1. series-shunt
v 2 series-series &0

/< 3. shunt-series

< 4. shunt-shunt g PN
Question ID : 6395132793
Status : Answered

Chosen Option : 3

Q59 gelect the correct option:

[£ is the damping factor of second order system]
Ans 1. & = 1; undershoot system
X 2. £=-2; overshoot system
/< 3. &=—I: critical damped system

W 4 &=0.5; undershoot system

Question ID : 6395132777
Status : Answered
Chosen Option : 4
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Q.60 For a 3- @, 50 HZ supply. calculate the ratio of output voltage ripple-frequency to the supply-voltage frequency of 6
pulse diode bridge rectifier.

Ans X1_ 5
X212
X3 2
vi6

Question ID : 6395132802
Status : Answered
Chosen Option : 1

Q.61 The Lissajous pattern observed in a CRO is shown here. What is the frequency ratio of the vertical signal to the
horizontal signal?

Horizontal
Tangencies

5
0‘?

Ans  X'1.3:2
X235 oo
Vs 4:1 0
X4 5:2

&o Question ID : 6395132789

Status : Answered
Chosen Option : 3

Q.62 Tpe transfer function of a system Hy(s) is given by@ ﬁ . The impulse response of system is:

(* denotes convolution and u(t) is unit step

Ans X1 (t2 * e 2)u(t)

Question ID : 6395132752
Status : Answered
Chosen Option : 2

Q.63 Inade generator, the process of reversal of current in an armature coil as it crosses magnetic neutral axis is called:

Ans  of 1. commutation

/< 2. demagnetisation
/< 3. armature reaction

/< 4. cross magnetisation

Question ID : 6395132758
Status : Answered
Chosen Option : 4
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Ans

Q.64 Mention the power factor of 1- ® full bridge diode rectifier supplying high inductive load.

X115

v 2 Less than 1
X3 1

#< 4 Greater than 2

Note: All previous year Exam paper provides

Question ID : 6395132804
Status : Answered
Chosen Option : 2

Q.65 A200/2000V, 1-®, 50 Hz transformer has primary and secondary resistance of 5 Q and 20 Q, respectively. Find the

value of equivalent resistance of the transformer referred to the primary side.

Ans

Ans X'1.200
X2100
vis520
X4 1240 o&
Ques %395132753
s : Answered
02 tion : 3
Q.66 The incremental fuel cost for two generating units are given by o

IC; = 10+ 0.2 PG, o

ICy = 16 + 0.2 PG, where PG and PG, are real power generated by the units. Find the wo@catjoﬂ for a total
load of 170 MW. “',
(neglect transmission line loss) o

X 1. PGy =60 MW, PG, =110 MW

X 2. PGy =80 MW, PG, =90

W 3. PGy =100 MW, PG, =70

X 4 PGy =120 MW, PG,

‘ Question ID : 6395132773
Status : Answered
Chosen Option : 3

o
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7" The Fourier transform of x(t) = te~ 't

(where ‘t” indicates continuous time domain)

Ans . 4
XX =gy
—Jj4w
V2 X =G oy
| —j4
Ko X@) =G5 oy
| —4
KM = ey

Question ID : 6395132749
Status: d
Chosen Option :

rms

Q.68 43. @, 6 pulse diode bridge rectifier is supplied by (100 * ) /\féV(phmg) . 50 Hz. Find the average output Voltagéa
Ans  of 1. 300V

X 2900V 00
X3 100V o

X 4500V 0
Question ID : 6395132803

&o Status : Not Answered

Chosen Option : --

Q.69 Consider an open-loop transfer function G(s) = il )
(s+ 0.5)(5s+4}

the open-loop and closed-loop configurations of the system i

Ans 1. unstable and stable &
/< 2. unstable and unstab
& 3. stable and uns ¢
« 4 stable and

wi eedback. For K > 6, stability characteristic of

Question ID : 6395132784
Status : Answered

Chosen Option : 1
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Q.70 1p the circuit shown here, find the value of R, at which the ac bridge is balanced.

Question 1Dy 786
Status: ered
Chosen Option«'3

Q.71 Find the number of 2 x 1 MUX (multiplexers) required to implement 16 x 1 }

Ans ( 1. 15
X2 20 o
e 20
X409
&o Question ID : 6395132797

Status : Answered
Chosen Option : 2

Q72 Determine the minimised exprew f Boolean function.
F=XZ+YZ+YZ+Xv2(7)
s K1LXY+Z $ ¢
V2 Z+Xy
X3 XY+
X 4 XYe

Question ID : 6395132796
Status : Answered
Chosen Option : 2
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10 KD

R 10K

Ans X1 75kQ
25k
- 30kQ
- 100 kQ

Q73 1n the circuit shown here, find the value of R such that V, =0.5V3 -2V,

Question ID : 6395132794
Status : Not Answered

- S
s5(s + 5)(s + 15}

G(s) =
Ans X 1. 20 logyg 500 dB
W 2. 20 log; 300 dB
< 3. 20 logyg 50 dB
< 4 20 logyg 100 dB

Chosen Option : -- e
Q.74 Calculate the gain margin of the system G(s) with unity feedback. Where G(s) is given as

*

Question ID : 6395132775
Status : Answered
Chosen Option : 2
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Q.75 Identify the output voltage waveform (V) of the clipper circuit shown in the figure here, where V; is sinuseidal input to

the circuit.
D
) V,
b
Ans vﬂ
]
X _ Ve
o| ~
Clipping

&0 Question ID : 6395132790
Status : Answered
Chosen Option : 4

ring the entire tournament, making a record total of 36, In the

( 2. Abraham Benjamin (AB) de Villiers
#% 3. Sachin Tendulkar
x 4. Kumar Sangakkara

Question ID : 6395132819
Status : Answered
Chosen Option : 4
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Q.2 Hyperinflation is when prices skyrocket more than a month.
Ans  of 1 50%
&2.10%
0 3.30%
X 4.20%
Question ID : 6395132816
Status : Answered
Chosen Option : 1
Q.3 gt & Fudh shie ok et shls & oftar & sifRarar (Rerdi=gdl) =t gl
SIGIE]
Ans x 1. RIS SRR (Feehd=ge)
W 2. e sifReRa (Rt
25 3. 08 sifeRa (Red=gd)
X 4. e e (Rendigt) . o
Questi 395132813
: Answered
Cho tion : 2

Q.4 RTI afafaw smuert _____ Rt & ofiar o= & #Areaw & IR i s a1 SifderR 1
Ans x 1.40 ozo
X 215 0
W 3.30 e

X 4.60

Question ID : 6395132814
b Status : Answered

Chosen Option : 3

Q.5 is the frozen water part of the ater system.
Ans X 1. Mesosphere

X 2. Troposphere ‘
(3. Cryosphere
X 4. Lithosphere&

Question ID : 6395132811
Status : Marked For Review
Chosen Option : 2

Q.6 Which state government has unveiled the world’s 2nd tallest statue of Vallabhbhai Patel?
Ans X" 1 Madhya Pradesh

“ 2. Gujarat
x 3. Rajasthan

X 4. Maharashtra

Question ID : 6395132820
Status : Answered
Chosen Option : 2

visit this website studytosuccess.in



Join Telegram More Update

Q.7 WRAMTuaE i 15 0RA, 2019/ & el ZR UR 320 o1 SHST BTl
Ans XTFHW

2R

o 3. 7t e

25 4. IR A Rt

Note: All previous year Exam paper provides

Question ID : 6395132810
Status : Answered
Chosen Option : 2

Q.8 Nearly 84% of the earth’s volume and 67% of the earth’s mass is occupied by the

Ans  of 1 mantle

X 2. core
x 3. crust

' 4. hydrosphere
< 4. hydrosp 'o

Questi IW 95132812
: Answered
Cho tion : 4

Q.9 TN dx &, & aee @, ffeer arei @ @2 @ ugs iR 7 Fhaw siga™=
Freptar Ziu g &t il & qeh T afesh WRe dht SwR-gl e 7 of sder far

Ans X" 1 zfayor snhie :

25 2. Ty
W 3. = e

& 4 &o
* Question ID : 6395132809
Status : Answered

Chosen Option : 3

Q.10 IR gd uRa # = ufirg g & firent oref g STt ot =i

Ans X'].q"]'%:ﬂ'a@ PN
Koo g9
p R &
o 4 o

Question ID : 6395132818
Status : Answered
Chosen Option: 3

Q.11 T HAR TUe Rl A A AoTaer & H@FUTUhR __ ZRT R= fohar mar ami
Ans X1Wﬁ:‘w

2 TEE s

75 3. wRE

25 4. R 2ITE reTe

Question ID : 6395132808
Status : Answered
Chosen Option : 2
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Q.12 27 7, 2019 @t ger w:ft R 7Y 3 givon 6i fok wRa & ge ot ghar s o T2
Sialer Gur urer & wu § Tuifoe faar g1

Ans 1 e
o 2. e

X 3. dgw

X 4z

Question ID : 6395132821
Status : Answered
Chosen Option : 2

Q.13 uRAT Iy &1 o a1 et gar s & Hffa Aderes aa @ gdfda 82
Ans  of 1 amiv

25 2. ami
25 3. 9wV

K 4.smy Py o
Questi 395132815
: Answered

Cho@rtion 01

Q.14 Indian economy is considered a as it has well defined areas for function'@
public and private sectors and economic planning.
Ans " 1 Traditional economy o
x 2. Market economy 0
“ 3. Mixed economy e

5 4. Planned economy &o
* Question ID : 6395132817
Status : Answered

Chosen Option : 3

Q.15 Justice was on November 1@9, worn in as the 47th Chief Justice of India.

Ans X" 1. Dipak Misra P
X 2.7, Thakur &

( 3. Sharad Arvind

x 4. Ranjan Go;a'

Question ID : 6395132822
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude
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Q.1 Select the quadratic equation whose sum of roots is 4 and product of roots is 1.
e X1 x2—4x—1=0

V2 x2 _4x41=0

X3 x2—5x—1=0

K4 x2+4x+1=0

Question ID : 6395132837
Status : Answered
Chosen Option : 2

Q.2 If the ratio of Ram and Sham’s marks is 2 : 5 and Sham and Ganesh's marks is 3 : 7. then what is the ratio of Ram and

Ganesh's marks?
Ans X1 15:35

V2 6:35

X36:5 o

X4 6:15 '\

Ques 1 6395132825

atus : Answered
ption: 2

Q.3 wmm#wgaﬂ%lwﬁ#%wmﬁmmmgﬁqv@m%mm% 36

dex fysT Tarea FeaR #1 TR ¥ gy ¥ o) R amar ¥ af o ok g 6:13%
& 2T # Fiom &7 & A A HEw
Ane X1 250 dreT e
X 2 352 #rex K’O
X 3 253 drex *
v 4 252 B b

&: Question ID : 6395132829

9 Status : Not Answered
Chosen Option : --

94‘ .

Q4 The sum of series 0.77 +0.777 + ............ up to 25 terms is:
Ans 7

b = b 2
81 1(]'25]

. 7
Xz.ﬁ[225+ ]

1[}25

i
v —_[224+
g1l

1(}25]

. 7
X4.ﬁ[223+ ]

1ﬂ25

Question ID : 6395132833
Status : Not Answered
Chosen Option : --
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Ans

Q.5 Aruntravels a distance of 15 km in 1 hour. In how many hours will he travel a distance of 165 km?

&< 1. 14 hours
& 2. 12 hours
« 3 11 hours
< 4 13 hours

Note: All previous year Exam paper provides

Question ID : 6395132830
Status : Answered
Chosen Option: 3

Ans

Q6  YWhat is the compound interest on 21,400 at 20% per annum in 2 vears?

X< 12613
X 2 3614
X 3. 3615

V4 2616 .
©

Questj IW 95132826
: Answered
Cho tion : 4

Ans

Q.7 ot gy fdar & W S YHR & gu ¥, Fowd A s 276, 322 3R 414 dex
o amow F faeme wEe ariar S Rt $ =gEes gEw F e 9w ) 91 F
3 srTs FERT #r T A7 SifEv

V' 46 ¥t 3T 22 FET 0
X 2 276 dheT 3T 22 Fe o"ﬂ
Xo 322 X 3R 46 T Q\

/< 4 46 T 3T 23 FeT

Status : Not Answered

' |° Question ID : 6395132824

9 Chosen Option : --

Q.8  Arun buys a scooter at i14,00@ at a loss of 25%. What is the selling price of the scooter?
Ans ¢
X 1. 210,520 &

X 2 210,53
V'3 3l

X 4 210,510

Question ID : 6395132827
Status : Answered
Chosen Option : 3
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Q@9 A biquadratic equation has how many possible roots?
Ans  of 1 g4
K22
X 3.
x4

L L

Question ID : 6395132836
Status : Answered
Chosen Option : 1

Q.10 If the average of the numbers 10, 15, x, 25, 35 and 45 is 25, then what will be the value of x?

Ans x 1. 93

X2 21

'3 20

<425 .

Question ID 6395132832
: Answered
Cho tion: 3

Q11 The HCF of decimal numbers 1.5, 2.05 and 3.5 is: o

Ans X1 1.5
X225 oo
K3 2.05 e

v 4 0.05 &o
Question ID : 6395132823
b Status : Answered
; Chosen Option : 4
.12 N oo,
912 The value of sin 75" is: e

Ans

v VZ(V3+1) ¢

4

V2(V3+2)
2, dekeie) 9
) ﬁ
V2(
3.
~< :

4

Question ID : 6395132835
Status : Answered
Chosen Option : 1
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QB wig s R F e T i AT F R I EmA PR R w Rigeaa s
oy 3T #fdw F o & 3o FT FA 607 AW 457 F| egeEs fr TR AT A

Ans X1 17G/3—-1) m

X2 140/3-1) m
V'3 15(/3-1) m
X416(W3-1) m

Question ID : 6395132834
Status : Answered
Chosen Option: 3

Q14 73 s w7 vy Freet Bl w1 A 0 R F 9@ w wed E T, ¥R ¥ 2 U 3 T
W1 RA F WA F S R R W R w2

Ans x1 5
~1zﬁ '\o
JZ'E ‘
X3 2
126 e
X“-E 00

Question ID : 6395132831
Status : Answered
Chosen Option : 2

Q.15 ©w et vw AeEe S=aT 31 IfE AewEe @ 22,000 F s= gmm,mmﬁﬂa#
218,000ﬁaaﬁq1§%'9ﬁamaﬁra:m%,35%m e Aame @ T JgFw A
EAE |

ans X 1. 225,000 0
X 2. 223,000 R
X 2 717,000 &

v 4 327,000 &
& Question ID : 6395132828
Status : Answered
Chosen Option : 4

Section : General Intelligence and Reasoning

Q.1 U sjEen & 7 & fwd uah ug g 81 fig g faeeal # 9 w8t faavea o1 99+ o Sit siEe ot
ORT |
€2, 6, 012, 120,

Ans ( 1.y30
25 2.230
X 3.225
5 4.y25

Question ID : 6395132842
Status : Answered
Chosen Option : 1
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Q.2 39 faehed o1 T R Sit It STYR WR AR ug A Heifda g 51 g1 ug uge ug @ Gefda g1
ST Yarin?:?

Ans X' 1 wd:®
W 2. s il
5 3. dar wy
X 4.z i

Question ID : 6395132845
Status : Answered
Chosen Option : 2

Q.3 Uy ereet A f=foif@a # @ &= o) deu gerfar a?
uTqg, Tegfafas, aifean

Ans

v
o\o

) O
“9
‘o

& Question ID : 6395132847
Status : Answered
Chosen Option : 3

Q.4 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.
15, 16, 20, 21, 26, ?

Ans X131
& 2.28
o 327
/S 4.30

Question ID : 6395132840
Status : Answered
Chosen Option: 3
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Q.5 The statements below are followed by two conclusions labeled 1 and 2. Assuming that the
information in the statement is true, even if it appears to be at variance with generally
established facts, decide which conclusion(s) logically and definitely follow(s) from the
information given in the statement.

Give answer:

(A) If only conclusion I follows
(B) If only conclusion Il follows
(C) If either | or Il follows

(D) If both I and Il follow.

STATEMENT : Aerated drinks are harmful for health .

CONCLUSION 1: Leads to increase in amount of fat
CONCLUSION 2: Leads to insulin resistance.

Ans XTA
o 2D
Ko3c
X 4B

Question ID : 6395132838
Statu; d

Chosen Option™

that will complete the series.

Q.6 A series is given with one term missing. Select the correct alternative from the given ones E

Z100, X81, T64, ?

Ans &1 P50 0
5 2.N50 o

#< 3.P49 o

o 4.N49 90

&o Question ID : 6395132841

Status : Answered
Chosen Option : 4

Q.7 fu g =u A: 6&pQ@231qsY#
TRAST: STIERH & Se¢ o A #@ i FRIfT

Ans X1.1,5 e
X 2118
x ¢
38
& 4.10,12

Question ID : 6395132843
Status : Answered
Chosen Option: 3
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Q.8 Out of the given options, three are similar in a certain manner. However, one option is NOT
like the other three. Select the option which is different from the rest.

Ans

= &
o

@ —

- o
X2

o fr—

O —
X s

= ®

. —
X4

= O

Question ID : 6395132846
Status : Answered
Chosen Option: 1

Q.9 i e g usr &, ger hu= T wan @ e a1 &t fAsendf | ofiR 11 few i €1 enuent sRus H Ry
TTQ 9 FS hl Ted AT 1@, fohe &t fRsepst o= ges a1 IR & oiik fAofa & fof s d §
SRR # @ Rl |1 difchen @4 @ Teh SR g @ R 2l
IR S
(A) af haer fAceht.| T SFEROT HeaT &

(B) afe; et fAsenef || a1 STFEROT et

(C) af¥ 1 T Il SrgHRYT et &

(D) af¥ 1 3R 1l =T STg&RoT e &

wy: i A fferam it vt 7 gt @1 g ues fafe weg iR @R ARt 81
st 1: arfrenier e SRR & ARl # ge faferas ghmi

fAreenef 2: 92 aRi & B ARt i gerr A rfdes Rfeaw giar g1

Ans o 1A
K 2.8
X 3D
K 4ac

Question ID : 6395132839
Status : Answered
Chosen Option : 1
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Q.10 Find the missing number in the following number series.

Ans  of' 1 20

Note: All previous year Exam paper provides

K 2.16
K39

K 417

Question ID : 6395132852
Status : Not Answered
Chosen Option : --
Q.11 Out of the given options, three are similar in a certain manner. However, one option is NOT / t |
like the other three. Select the option which is different from the rest. \

Ans o 1 NILE e‘
2.k e
75 3.ALPS 0
5 4. MOUNT EVEREST o

Question ID : 6395132844
Status : Answered
Chosen Option: 1

Q.12 The letters of the following word, when arranged, form an riate word.
TVLIEON
What is the position of alphabet ' T' in the word for

Ans “1,7
K22 &0
K3 e

2

X 46

Question ID : 6395132851
Status : Not Answered
Chosen Option : --
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Q.13 In the given figure, A represents people liking APPLES, B represents people liking
BANANAS, C represents people liking CHIKOO.
How many people like ONLY APPLES?

A B

’
(X

Ans X1-6
K 2.3
N 3.4
o 410

Question ID : 6395132848
Status : Answered
Chosen Optio’

Q.14 Find the missing number in the following number series. e‘

30|15 | 4 e
60 | 12 | 10 o

9 |16 | ? 0
Ans X116 e

X 214 &o
5318
v RV b

&0 Question ID : 6395132850

Status : Answered
9 Chosen Option : 4
Q.15 Arrange the following in a m&lsequence:
1) Pond
2) Lake
3) Sea

4) Ocean
Ans & 12314

o 21432
250 3.1234
&5 4.4123

Question ID : 6395132849
Status : Answered
Chosen Option : 3

Section : General English
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Comprehension:

A passage is given with five questions following it. Read the passage carefully and select the
best answer to the given question out of the given four options.

It is well known that Technology adds a lot of efficiency when it comes to today’s lifestyle,
especially with regards to healthcare from what we know and hear about all the time.

The adoption of electronic health records helps eliminate a lot of repetitive testing that can
add to savings and help with deficit reduction. The electronic record also makes easier for
disease and care management for individuals.

The integration of information into one source can improve efficiency and help eliminate
additional steps of obtaining patient information from multiple sources. Providers find it
easier to perform tasks such as processing claims and billing. A provider can access a patient
record with speed and ease. With all this information available a provider can also make a
quick informed decision that ultimately can affect a patient’s outcome of care management
that could have a long term effect to one’s health in the future.

With patient information being available in a centralized location the use of Decision support

systems come into play by using this combined source to aid in care management,

medication management and also drug interactions for a patient. There is a reduced likely
hood of errors and this also eliminates duplication

Even though a physician can potentially reduce his overhead through say the use of an
electronic scanner instead of paper claims, and reduce the number of office staff employed at
the practice. There could also be some short term unforeseen negative effects as a result of
this. What happens to all the people who normally manage these functions? This is an indirect
negative effect of technology in the short term, where some of these jobs will slowly be
replaced by a few highly skilled specialized individuals or by computer systems.

So despite there being a positive effect to reduce healthcare costs and improve the overall
strain healthcare has on the national deficit, the short term effects of job reduction from this
is also impending.

SubQuestion No : 1
Q.1 Select a suitable title to the passage from among the given options.

Ans K 1. The free availability of patient information.
K 2. Strain of healthcare on the national deficit.
K 3. Ways to increase efficiency and manage costs.

( 4. The role of technology in our healthcare system,

Question ID : 6395132854
Status : Answered
Chosen Option : 4
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Comprehension:

A passage is given with five questions following it. Read the passage carefully and select the
best answer to the given question out of the given four options.

It is well known that Technology adds a lot of efficiency when it comes to today’s lifestyle,
especially with regards to healthcare from what we know and hear about all the time.

The adoption of electronic health records helps eliminate a lot of repetitive testing that can
add to savings and help with deficit reduction. The electronic record also makes easier for
disease and care management for individuals.

The integration of information into one source can improve efficiency and help eliminate
additional steps of obtaining patient information from multiple sources. Providers find it
easier to perform tasks such as processing claims and billing. A provider can access a patient
record with speed and ease. With all this information available a provider can also make a
quick informed decision that ultimately can affect a patient’s outcome of care management
that could have a long term effect to one’s health in the future.

With patient information being available in a centralized location the use of Decision support
systems come into play by using this combined source to aid in care management,
medication management and also drug interactions for a patient. There is a reduced likely
hood of errors and this also eliminates duplication.

Even though a physician can potentially reduce his overhead through say the use of an
electronic scanner instead of paper claims, and reduce the number of office staff employed at
the practice. There could also be some short term unforeseen negative effects as a result of
this. What happens to all the people who normally manage these functions? This is an indirect
negative effect of technology in the short term, where some of these jobs will slowly be
replaced by a few highly skilled specialized individuals or by computer systems.

So despite there being a positive effect to reduce healthcare costs and improve the overall
strain healthcare has on the national deficit, the short term effects of job reduction from‘this
is also impending.

SubQuestion No : 2
Q.2 The tone/attitude of the author towards the passage can be best described.as:
Ans X 1. Narrative

\_f 2. Direct
K 3. Belittling
K 4. Cynical

Question ID : 6395132858
Status : Answered
Chosen Option: 1
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Comprehension:

A passage is given with five questions following it. Read the passage carefully and select the
best answer to the given question out of the given four options.

It is well known that Technology adds a lot of efficiency when it comes to today’s lifestyle,
especially with regards to healthcare from what we know and hear about all the time.

The adoption of electronic health records helps eliminate a lot of repetitive testing that can
add to savings and help with deficit reduction. The electronic record also makes easier for
disease and care management for individuals.

The integration of information into one source can improve efficiency and help eliminate
additional steps of obtaining patient information from multiple sources. Providers find it
easier to perform tasks such as processing claims and billing. A provider can access a patient
record with speed and ease. With all this information available a provider can also make a
quick informed decision that ultimately can affect a patient’s outcome of care management
that could have a long term effect to one’s health in the future.

With patient information being available in a centralized location the use of Decision support
systems come into play by using this combined source to aid in care management,
medication management and also drug interactions for a patient. There is a reduced likely
hood of errors and this also eliminates duplication.

Even though a physician can potentially reduce his overhead through say the use of an
electronic scanner instead of paper claims, and reduce the number of office staff employed at
the practice. There could also be some short term unforeseen negative effects as a result of
this. What happens to all the people who normally manage these functions? This is an indirect
negative effect of technology in the short term, where some of these jobs will slowly be
replaced by a few highly skilled specialized individuals or by computer systems.

So despite there being a positive effect to reduce healthcare costs and improve the overall
strain healthcare has on the national deficit, the short term effects of job reduction from‘this
is also impending.

SubQuestion No : 3

Q.3 The last paragraph mentions “the short term effects of job reduction from this isalso
impending”. Identify the most appropriate replacement of the word ‘impending’ as used in
the context of the passage.

Ans \f 1. approaching
75 2. unlikely
K 3. distant

K 4. unreachable

Question ID : 6395132857
Status : Answered
Chosen Option : 3
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Comprehension:

A passage is given with five questions following it. Read the passage carefully and select the
best answer to the given question out of the given four options.

It is well known that Technology adds a lot of efficiency when it comes to today’s lifestyle,
especially with regards to healthcare from what we know and hear about all the time.

The adoption of electronic health records helps eliminate a lot of repetitive testing that can
add to savings and help with deficit reduction. The electronic record also makes easier for
disease and care management for individuals.

The integration of information into one source can improve efficiency and help eliminate
additional steps of obtaining patient information from multiple sources. Providers find it
easier to perform tasks such as processing claims and billing. A provider can access a patient
record with speed and ease. With all this information available a provider can also make a
quick informed decision that ultimately can affect a patient’s outcome of care management
that could have a long term effect to one’s health in the future.

With patient information being available in a centralized location the use of Decision support
systems come into play by using this combined source to aid in care management,
medication management and also drug interactions for a patient. There is a reduced likely
hood of errors and this also eliminates duplication.

Even though a physician can potentially reduce his overhead through say the use of an
electronic scanner instead of paper claims, and reduce the number of office staff employed at
the practice. There could also be some short term unforeseen negative effects as a result of
this. What happens to all the people who normally manage these functions? This is an indirect
negative effect of technology in the short term, where some of these jobs will slowly be
replaced by a few highly skilled specialized individuals or by computer systems.

So despite there being a positive effect to reduce healthcare costs and improve the overall
strain healthcare has on the national deficit, the short term effects of job reduction from‘this
is also impending.

SubQuestion No : 4
Q.4 Which of the following options is definitely false as per the views expressed by.the author?

Ans K 1. The technological aid makes processing claims and billing easiér
K 2. The adoption of electronic health records eliminate repetitive'testing.

K 3. The decision support systems come into play by uging €ombined source to aid in
care management, medication management and drug interactions for a patient.

\_f 4. The integration of patient information in to‘@he S@WFee can lead to data misuse and
issues of unauthorized data usage.

Question ID : 6395132855
Status : Not Answered
Chosen Option : --
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Comprehension:

A passage is given with five stions following it. Read the passage carefully and select the best answer to
P tﬁegg?vengques\t’\l/on out (%ut%e given?our options. P g ¥

It is well known that Technology adds a lot of efficiency when it comes to today’s lifestyle,
especially with regards to healthcare from what we know and hear about all the time.

The adoption of electronic health records helps eliminate a lot of repetitive testing that can
add to savings and help with deficit reduction. The electronic record also makes easier for
disease and care management for individuals.

The integration of information into one source can improve efficiency and help eliminate
additional steps of obtaining patient information from multiple sources. Providers find it
easier to perform tasks such as processing claims and billing. A provider can access a patient
record with speed and ease. With all this information available a provider can also make a
quick informed decision that ultimately can affect a patient’s outcome of care management
that could have a long term effect to one’s health in the future.

With patient information being available in a centralized location the use of Decision support
systems come into play by using this combined source to aid in care management,
medication management and also drug interactions for a patient. There is a reduced likely
hood of errors and this also eliminates duplication.

Even though a physician can potentially reduce his overhead through say the use of an
electronic scanner instead of paper claims, and reduce the number of office staff employed at
the practice. There could also be some short term unforeseen negative effects as a result of
this. What happens to all the people who normally manage these functions? This is an indirect
negative effect of technology in the short term, where some of these jobs will slowly be
replaced by a few highly skilled specialized individuals or by computer systems.

So despite there being a positive effect to reduce healthcare costs and improve the overall
strain healthcare has on the national deficit, the short term effects of job reduction from this
is also impending.

SubQuestion No : 5
Q.5 What according to the passage is the indirect negative impact of technology in the long run?

Ans K 1. People’s inherent unwillingness to put their trust in the medical featernity.
x 2. Reduction in the overhead healthcare cost by reducing the number of office staff.

K 3. The government'’s increased interference in the phdsmaceutical company’s
administrative affairs.

\, 4. The jobs being replaced by a few highly skifl@e ihdi¥iduals or by computer systems.

Question ID : 6395132856
Status : Not Answered
Chosen Option : --

Q.6 A sentence with an underlined word is given below. Select the most appropriate SYNONYM
for the underlined word from:the given options.

She was completely baffled by his strange behaviour.
Ans X" 1 Assured

x 2. Peacefil
K 3. Convinced
\f 4. Confused

Question ID : 6395132887
Status : Answered
Chosen Option : 4
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Q.7 Identify the correct statement from the options given.

Ans x 1. Rachel, who served as a model from Chad’s sister, thought her interpretation of the
role was the best.

( 2. Rachel, who served as a model for Chad's sister, thought her interpretation of the
role was the best.

x 3. Rachel, who serves as a model for Chad’s sister, thought her interpretation of the
role was the best.

X 4. Rachel, who served as a model for Chad’s sister, thought her interpretation of a role
was the best.

Note: All previous year Exam paper provides

Question ID : 6395132873
Status : Answered
Chosen Option : 3

Q.8 A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

Somebody has stolen the purse which I had bought recently.
Ans x 1. I had bought a purse recently and it has been stolen. "o
X 2. My purse which had been bought recently by her has been stolen. ‘
x 3. My purse which | had bought recently has been stolen. ee
( 4. The purse which had been bought recently by me has been stolen. 0

Question ID : 6395132886
Status : Answered
Chosen Option : 4

Q.9 Identify the segment in the sentence which contains the gramm
options. If there is no error, mark your answer as ‘No error'

He feels badly about the defeat &
Ans X" 1 He feels b
o 2 badly
X 3. about the defeat &0
x 4. No error, e

or from the given

Question ID : 6395132860
Status : Answered
Chosen Option: 3

Q.10 In the followin e some parts in BOLD letters. Choose the better of the two
alternatives fol such part and then choose the best combination as your answer.

Her son doesn’t (A)/ didn't (B) have the faintest idea what he will (A)/ will he (B) do after
leaving(A)/ he had left(B) school.

Ans X" 1 BBA

o 2. AAA
/X 3.ABB
75 4.BAB

Question ID : 6395132869
Status : Answered
Chosen Option : 3
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Q.11 Identify the segment in the sentence which contains the grammatical error from the given
options. If there is no error, mark your answer as ‘No error'.

The team played real good for the first five minutes
Ans X' 1. The team played

( 2. real good for the
x 3. first five minutes

x 4. No error

Question ID : 6395132859
Status : Answered
Chosen Option : 2

Q.12 A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

His subject accused him of various atrocities.

Ans x 1. His subject accused that he had done various atrocities.

i 2. He was accused of various atrocities by his subject. '\o

X 3. It was accused by his subject that he had done various atrocities. e ‘

x 4. His subject accused him of various atrocities.

estion ID : 6395132882

o Status : Answered
Chosen Option : 2

Q.13 Identify the segment in the sentence which contains the grammatical m the given
options.

Ans X" 1 ringing for people

x 2. on low incomes. aﬁ

f 3. has been set alarm bells

The government’s proposal has been set alarm bells ringinl fo le on low incomes.

Question ID : 6395132906
Status : Answered
Chosen Option : 3

x 4. The government’s proposal &0

Q.14 Choose the most ap,

combination of preposition in the given sentences.

His friends con him on his bereavement.

The approach pan of the book is similar that to the other part,
He has reverted his former job.

| am sick the entire episode.

Ans X" 1. of, on, in, by

i 2. before, to, to, in

x 3. between, to, into, too

x 4. at, by, with, on

Question ID : 6395132868
Status : Answered
Chosen Option : 2
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Q.15 A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

How much a month are you paid?

Ans x 1. How much a month do you pay them?
x 2. In a month how much do you pay?
x 3. How much a month do you pay?

f 4. How much a month do they pay you?

Question ID : 6395132884
Status : Answered
Chosen Option : 4

Q.16 Choose the most appropiate combination of preposition in the given sentences.

Where have you been ?
He lives Delhi in India.
| would occupy myself with no more important business than this.

He has not been cured his di
Ans X" 1. with, before, at, in 0\0
x 2. with, between, no preposition, of Q
i 3. no preposition, in, no preposition, of ee

x 4. no preposition, with, in, at 0

Question ID : 6395132865
Status : Answered
Chosen Option : 2

Q.17 Identify the segment in the sentence which contains the gramm
options.

r from the given
The customer insisted to speaking to the manager perso &

Ans i 1. insisted to
x 2. manager personally.

X 3. The customer &0
x 4. speaking to the e

Question ID : 6395132907
Status : Answered
Chosen Option : 4

Q.18 Identify the se the sentence which contains the grammatical error from the given
options. If the! error, mark your answer as ‘No error'.

The programme which came on television these days in the evenings is very interesting.
Ans x 1. The programme which

X 2. these days in the evenings is very interesting.

( 3. came on television

X 4. No error

Question ID : 6395132913
Status : Answered
Chosen Option: 2
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Q.19 Select the most appropriate SYNONYM of the given word.
Guilty

Ans X" 1 Virtuous

X 2. Innocent

X 3. Unrepentant
“ 4. Accountable

Question ID : 6395132889
Status : Answered
Chosen Option : 1

Q.20 Choose the most appropiate combination of preposition in the given sentences.

My brother is deficient mathematics.
We are expecting the reply evening.
The final decision rests the director.
The river flows the bridge.

Ans X" 1. by, in with, on

( 2. in, by, with, under O‘o

x 3.in, on,in, by ‘

x 4. under, by, with, it "

estion ID : 6395132866

o Status : Answered
Chosen Option : 2

Q.21 Select the most appropriate ANTONYM of the given word.

Dabbler e

Ans 1 Loyal &o
“ 2. Professional *
X 3. Truthful b
x 4. Talkative 0
X

9 Question ID : 6395132899
Status : Answered
‘ Chosen Option : 4
Q.22 Select the most approp YNONYM of the given word.
Harsh
Ans & 1. Soft-
X 2. Whisper

x 3. Polite
( 4. Scold

Question ID : 6395132888
Status : Answered
Chosen Option: 3
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Q.23 Two sentences are given below. Choose the correct conjunction to join the given sentences.
Several members have not replied for over three years.

Their names have therefore been removed from the mailing list.

Ans &1 But
25 2. Yet
X 3. Else
W 4 And

Question ID : 6395132874
Status : Answered
Chosen Option : 2

Q.24 In the following question, out of the four alternatives, select the alternative which is the best
substitute of the phrase.

A funeral song or tune
Ans " 1 Elixir e o
x 2. Hymn ‘
i 3. Dirge e‘
x 4. Flux e
o Question ID : 6395132893
Status : Answered

o Chosen Option : 2

Q.25 In the following question a sentence is given in Direct/Indirect spe of the four
alternatives choose the one which best expresses the sentence i t/Direct Speech.

"How dare you come in without permission?" she asked.

Ans X" 1. She said to him to dare to come in without permission.
x 2. She asked how he could dared to come in tpermission.
f 3. She asked him how he dared to comghi out permission

X 4. She told him if he could dare to without permission.

‘ Question ID : 6395132879
Status : Answered
Chosen Option : 2

Q.26 Choose the most opiate combination of preposition in the given sentences.
Roberta and th hologist disagreed, however, when Roberta said that the semicolon

the best punctuation mark.
The director said that he know what to make of Roberta’s punctuation obsession.

Ans f 1.is, didn't
x 2.is, doesn’t
x 3. was, didn't
x 4. were, don't

Question ID : 6395132876
Status : Answered
Chosen Option: 3
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Someone saw him stealing.

Ans f 1. He was seen stealing by someone.

x 2. He is seen by someone stealing

x 4. He had been seen stealing.

Q.27 A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

x 3. He was seen by one when he is stealing.

Question ID : 6395132883
Status : Answered
Chosen Option : 1

(clear(A)/clearly(B)) advantage.
Ans  of 1 ABA

5 2.ABB
% 3.BBA
25 4.AAB

Q.28 In the following sentence some parts in BOLD letters. Choose the better of the two
alternatives for ever such part and then choose the best combination as your answer.

“You don't have to be (nasty(A)/nastily(B))!” replied the duck.
The two creatures (swift(A)/swiftly(B)) circled each other, both looking for a

5
0’0

Question ID : 6395132871
Status : Answered
Chosen Option: 1

Ans x 1. You would not like others
x 2.to blame you for the loss,

( 3. wouldn't you?

x 4. No error
2

Q.29 Identify the segment in the sentence which contains the gramm
options. If there is no error, mark your answer as ‘No error'.

You would not like others to blame you for the loss, woul

O

r from the given

O

Question ID : 6395132912
Status : Answered
Chosen Option : 2

Q.30 Identify the se
options. If the

You are very unreliable to be trusted
Ans X" 1. unreliable to

i 2. You are very

x 3. No error

x 4. be trusted

the sentence which contains the grammatical error from the given
error, mark your answer as ‘No error'.

Question ID : 6395132863
Status : Answered
Chosen Option : 2
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Q.31 Choose the best alternative among the four given which can replace the part in bold to
make the sentence grammatically correct.

Even though leprosy has been eliminated from India as a public health problem in 2005, a
dreaded disease continue to raise its ugly head periodically.

Ans X 1 adreaded disease continues to raise its
x 2. an dreaded disease continues to raise its
i 3. the dreaded disease continues to raise its

X 4. the dreaded disease continue rising its

Question ID : 6395132911
Status : Answered
Chosen Option : 3

Q.32 Choose the best alternative among the four given which can replace the part in bold to
make the sentence grammatically correct.

The way people consume entertainment is changing at a fast rate globally and nowhere so
rapidly as we have seen in India.
Ans X 1. so rapidly as we may have seen in India "
x 2. so rapidly as we might saw in India e Q

i 3. as rapidly as we have seen in India e
x 4. more rapidly as we saw in India 0

Question ID : 6395132910
Status : Answered
Chosen Option: 3

Q.33 In the following sentence some parts in BOLD letters. Choose th

alternatives for ever such part and then choose the best combi as your answer.

(Since(A)/Because(B)) he is quite old it isn't (at all 1I(B)) surprising (but (A)/ that
(B)) he can't run as fast as you can.

Ans ( A
‘o &
75 3.BAB e
5 4 AAA X 3

Question ID : 6395132870
Status : Answered
Chosen Option : 1

Q.34 Select the most appropriate SYNONYM of the given word.
Devious

Ans X" 1 Honest
x 2. Distinguished
( 3. Two-faced

X 4. Supreme

Question ID : 6395132890
Status : Answered
Chosen Option : 4
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Q.35 A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

Who knows you?

Ans f 1. To whom are you known?
X 2. By whom are you known?
x 3. Whom are you known by?
x 4. Who are you known?

Question ID : 6395132885
Status : Answered
Chosen Option : 2

Q.36 In the statement below, a part of the sentence is highlighted bold. Out of the four options

which follow, choose the one which best replaces the highlighted bold part. If no .
replacement is required, select No improvement. One of my drawbacks is that | did

not have tolerance of ambiguity.

Ans ( 1. do not have Py o

x 2. no improvement

X 3. did not had e‘
X 4. am not e

o Question ID : 6395132905
Status : Answered

o Chosen Option : 1

Q.37 Select the most appropriate meaning of the given idiom. 9

Bite the bullet
Ans x 1. to amuse yourself by doing something unpleasa &

x 2. to restrain yourself from doing something t

x 3. to dislike yourself for having done som pleasant
i 4. to force yourself to do somethinm nt

e Question ID : 6395132902

‘ Status : Answered
Chosen Option : 4

Q.38 A sentence with an
for the underlined

d word is given below. Select the most appropriate ANTONYM
m the given options.

If cancers are
Ans &1 Living

x 2. Continuance

d early there's a high chance of survival.

i 3. Extinction

x 4. Advancement

Question ID : 6395132897
Status : Answered
Chosen Option : 2
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Q.39 In the following question, out of the four alternatives, select the alternative which is the best
substitute of the phrase.

A disease that causes a large number of people to die
Ans  of 1 Pestilence

X 2. Bariatric
x 3. Congenital
x 4. Sporadic

Question ID : 6395132892
Status : Answered
Chosen Option : 3

Q.40 Choose the most appropiate combination of preposition in the given sentences.

The commentator seems to be enamoured quotes from Shakespeare.
The poor man is beset difficulties.
The weather was not very congenial him.

We should adapt the changing times.
Ans X" 1. off, with, into, of P \o
i 2. of, with, to, to ‘
X 3. of, on, in, by ee
x 4. with, at, in, off 0

Question ID : 6395132867
o Status : Answered

Chosen Option : 2

Q.41 Choose the most appropiate combination of preposition in the gi ences.
Narasimha Rao is distinguished in the cartoons hi
Patanjali is an authority Sanskrit grammar.

He is a descendant the Mughal royalty.
The shopkeeper deals cotton and cloth.
Ans " 1.into, for, off, of b
X 2. on, by of, in &0
x 3. with, of, for, no preposition

“ 4. by, on, of, in ‘

Question ID : 6395132864
Status : Answered
Chosen Option: 2

Q.42 Identify the segment in the sentence which contains the grammatical error from the given
options. If there is no error, mark your answer as ‘No error'.

The dead are peacefully sleeping in their graves
Ans 3" 1. in their graves

x 2. No error

X 3. The dead are

( 4. peacefully sleeping

Question ID : 6395132862
Status : Answered
Chosen Option : 1
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Q.43 Select the most appropriate SYNONYM of the given word.
Bucolic

Ans x 1. Conservative
“ 2. Rural
X 3. Urban
x 4. Ancient

Question ID : 6395132891
Status : Answered
Chosen Option : 1

Q.44 Select the most appropriate ANTONYM of the given word.

Smart

Ans ( 1. Ugly
x 2. Pretty

?( 3. Handsome PN o
X 4. Beautiful \
= 3
1 6395132895
Qaatus : Answered

n Option: 1

Q.45 Choose the most appropiate combination of words for the given sentence. Q
el

The psychologist complained that quotation marks _______him in and _é
Ans X" 1 hem, made e
( 2. hemmed, made o
X 3. hem, make &

x 4. hemmed, make e
0 Question ID : 6395132875
& Status : Answered
Q Chosen Option : 2

Q.46 In the following question a sen @iven in Direct/Indirect speech. Out of the four
alternatives choose the one st expresses the sentence in Indirect/Direct Speech.

| trapped.

Ans

X 3. He exclaimed sadly that he had been ruined.

“ 4. He exclaimed sadly that he was ruined.

Question ID : 6395132877
Status : Answered
Chosen Option : 2
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Q.47 Choose the best alternative among the four given which can replace the part in bold to
make the sentence grammatically correct.

The Bishnoi community of Rajasthan and parts of Punjab believe that crop yield increase in
fields where black buck had gazed.

Ans X 1. crops yields decreases in fields where black buck was gazing
x 2. crop yields increases in fields where black buck had gazed.
X 3. that crop yield increase in fields where black buck were gazing.

( 4. crops yields increases in fields where black buck was gazing

Note: All previous year Exam paper provides

Question ID : 6395132909
Status : Answered
Chosen Option : 2

Q.48 Select the most appropriate meaning of the given idiom.

Beat a dead horse

Ans x 1. A significant effort

X 2. Ajoint effort '\o

( 3. Afutile effort E X 2
x 4. A deliberate effort

Status : Answered
hosen Option : 1

estion ID : 6395132901
<)

Q.49 In the following question a sentence is given in Direct/Indirect speec he four
alternatives choose the one which best expresses the sentence in | irect Speech.
"I wonder how the magician shows such wonderful magic!" sai oy.

Ans x 1. The boy wondered how the magician would sho onderful magic.

X 2. The boy wondered how such wonderful m by the magician.

( 3. Thy boy wondered how the magician s

x 4. The boy said how he wondered h&

ch wonderful magic

agician showed such wonderful magic.

Question ID : 6395132880
‘ Status : Answered
Chosen Option : 3

Q.50 A sentence with an
for the underlined

d word is given below. Select the most appropriate ANTONYM
m the given options.

Birds are abun
Ans X" 1 Plentiful

X 2. Copious
( 3. Scanty
X 4. Ample

the tall vegetation.

Question ID : 6395132896
Status : Answered
Chosen Option : 4
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Q.51 In the following question a sentence is given in Direct/Indirect speech. Out of the four
alternatives choose the one which best expresses the sentence in Indirect/Direct Speech.

She asked him what was it that made him stronger and braver than other men.

Ans x 1. She asked, “What is it that made you stronger and braver than other men?"
x 2. She asked, "What made you stronger and braver than other men?"
( 3. She asked, "What is it that makes you stronger and braver than other men?"

x 4. She asked, "What was it that made you stronger and braver than other men?"

Question ID : 6395132881
Status : Answered
Chosen Option : 3

Q.52 In the following sentence some parts in BOLD letters. Choose the better of the two
alternatives for every such part and then choose the best combination as your answer.

“You are (extreme(A)/extremely(B)) territorial about these pipes,’ added the duck.
The alligator retreated (fearful(A)/fearfully(B)) as the duck quacked (sharp(A)/sharply(B)).

Ans X )
o O
x s
X oni Qe

o Question ID : 6395132872
Status : Answered

o Chosen Option : 2

Q.53 Select the most appropriate ANTONYM of the given word. 9

Dubious

O
Ans 3 1 Intelligent &
x 2. Sharp *

f 3. Certain b

#5 4. Drastic &0

Question ID : 6395132898
‘ Status : Answered
Chosen Option : 1

, a part of the sentence is highlighted bold. Out of the four
hoose the one which best replaces the highlighted phrase.

ell as two-way radio paging make it possible for state police to
intercept most speeders.

Ans ( 1. makes it possible
X 2. allows the possibility
x 3. make possible

x 4. makes possible

Question ID : 6395132904
Status : Answered
Chosen Option : 4
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Q.55 In the following question a sentence is given in Direct/Indirect speech. Out of the four
alternatives choose the one which best expresses the sentence in Indirect/Direct Speech.

Filled with shame, she replied that she could not help snoring and hoped that her son would
understand.

Ans X 1."l'am sorry but | can't" help snoring, son," she said. “| hope you understand.
“ 2."l can't help snoring, son" she said, filled with shame. “I hope you will understand.”
X 3."Son, | can't help it, but | hope you understand that | snore," she said.

X 4. "I hope you understand that | can't help snoring,” she told her son.

Question ID : 6395132878
Status : Answered
Chosen Option : 2

Q.56 Select the most appropriate meaning of the given idiom.

Red-handed

Ans “ 1. To catch someone doing something illegal

x 2. To try to arrest someone without any evidence '\o
X 3. To discover a murderer using the clues E X 2

X 4. To catch a thief who steals red paints

estion ID : 6395132903

o Status : Answered
Chosen Option : 1

Q.57 Identify the segment in the sentence which contains the grammatical m the given
options.

She wept for joy when she was told that her husband is stil! alio

Ans X" 1. when she was told
x 2. She wept for joy *
J 3. is still alive. a

x 4. that her husband
e Question ID : 6395132908

‘ Status : Answered
Chosen Option : 1

Q.58 Select the idiom tha est subsitute the bracketed word in the sentence given below.

He (confessed) h t in front of god.

Ans X 1. to move heaven and earth
x 2. Nip in the bud
X 3. Cry for the moon

( 4. make a clean breast of it

Question ID : 6395132894
Status : Answered
Chosen Option : 4
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Q.59 Identify the segment in the sentence which contains the grammatical error from the given
options. If there is no error, mark your answer as ‘No error'.

He was too exhausted when he got home
Ans X 1 he got home

x 2. exhausted when

x 3. No error

“ 4. He was too

Question ID : 6395132861
Status : Answered
Chosen Option : 3

Q.60 Select the most appropriate meaning of the idiom
Go against the grain.

Ans x 1. Something that we can accept with difficulty
X 2. Something that is ugly and unpopular
( 3. Something in conflict with one’s value system '\o

x 4. Something done deliberately ‘

nID: 6395132900

Q Status : Answered
sen Option : 3
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